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Who coined the word ‘cell’ ?

(A) Robert Hooke (B) Robert Brown

(C) Watson and Crick (D) F]gming

In which tissue, large intercellular spaces are found between the cells 7
(A) Meristematic (B) Parenchyma

(C) Collenchyma (D) Sclerenchyma

In the animals of which phylum, is the circulatory system met with for the first time ?
(A) Nematoda (B) /Annelida

(C) Arthropoda (D) Mollusca

Which of the following is a pair of acute disease ?

(A) Elephantiasis, Typhoid - (B) Cholera, Jaundice

(C) Diabetes, Cancer (D) Common cold, Cough
To which levels in the air are lichens very sensitive ?

(A) Carbon dioxide (B) Ozone

(C) Nitric acid | (D) Sulphur dioxide

In what circtimstances does the evaporation of water increase ?
(A) On increasing temperature and decreasing surface area,
(B) On decreasing temperature and increasing surface area.
(C) On increasing temperature and increasing surface area.

(D) None of these

nium chloride and sand separated ?
(B) Centrifugation
(D) Evaporation

By which process is the mixture of ammo

(A) Winnowing
(C) Sublimation

7
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8. State the mole proportion of 12 gm magnesium and 16 gm sulphur.
(A) 3:4 (B) 4:3
© 1:1 (D) 1:2

9.  The atomic number of element X is 3, while the atomic number of element Y is 4.
Hence, the valency of Y element is :
(A) 1 (B)
€) 3 (D) 4

10. A sprinter comp
displacement ?

(A) 400 m
(C) 100 m

letes a round on a circular path of circumference 400m. What is his

(B) 200 m
(D) zero

11.. What is the product of force and the t

(A) Momentum
(C) Inertia

ime period for which the foree is acting called ?
(B) Acceleration

(D) Impluse and force

12. The force existing between two particles having mass | unit and at a distance of 1
unit from each other is called .

(A) gravitational potential
(C) intensity of gravitational field

(B) (gravitational acceleration
(D). universal constant of gravitation

13. A boy lifts a mass of 300g for 1.2 second at height of 4m. what would be the power
of boy ?
(A) 5W (B) 10w
C) 15w (D) 20w
14.  Sound of which frequéney from the following is ultrasonic sound ?
(A) 30Hz (B) 300 Hz
(C) 3000 Hz (D) 30,000 Hz

15. Whichofthe following brings oxygenated blood into left atrium in heart 7
(A) Pulmonary veins (B) Pulmonary arteries
(C) "Vena Cava (D) Aorta

squirrels ?
(A) Adrenal (B) Pituitary
(C) Thyroid (D) Hypothalamus
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23,

(D) Gonorrhea - AIDS

Which is the function of gene ?
(A) To form the structure of DNA.,
(B) To form the structure of chromosome.

(C) To bring about the synthesize of protein
(D) To synthesize DNA

A :
EC)) zo;sml ﬁxlcl (B) Uranium
olar cells (D) Gravitation pull

Which of the following groups have only non-biodegradable components ?
. Wood, paper, leather

2. Polythene, detergent, PVC
3. Plastic, detergent, glass

4.  Plastic, grass, low dung
(A) 3 (B) 4
(C) 1and3 (D) 2and3

Which leaves are used in‘manufacture of bidies 2
(A) Timru (B) Nagarvel
(C) Banyan (D) Khakharo

What happens when crystals of lead nitrate are heated strongly in a dry test tube ?
(A) . Crystals melt immediately.

(B) Brown fumes are obtained.

(C) . White fumes get formed in the test tube

(D). Yellow precipitates are obtained.

What will be the value of pH, if blue litmus paper turns red in aqueous solution ?
(A) BetweenOto7 (B) Between 7 to 14
(C) 14 | (D) 0 '
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24. Most of the me

(A) Soluble - (B) Insoluble
(C) Partial soluble

(D) Highly soluble

tal oxides are In water.

(A) Phosphorus (ﬁ sulphur
(C) carbon (D) tin

26. Who Proposed the 'Modern periodic law' for the modern periodic table 2
(A) Dobereiner

(B) Newlands
(& Henry Moseley (D) Mendeleey

tive index of any medijum is '
(A) 1 (B) >1
© <1 (D) zero
28. The pPhenomenon of Of light by the colloidal particles gives rise to the
Tyndall effect.
(A) reflection (B) refraction
(C) scaftering

(D) Aispersion

29. Which of the following is not a unjt of eléctric.energy 2
(A) watt-second

(B) kilowatt-hour
(C) joule (D) watt

30. According to the right-hand thumb rule, whose direction is indicated by the thumb ?
(A) Electric current

(B) Magnetic field
(C) Magnetic force (D) Motion of a conductor

31. Which of the followin
(A) Deer
(C) Bear

g animal is omnivore ?

(B) Lion
(D) Rabbit

32, Which of the followin
(A) Goiter
(C) Anemia

g is not a deficiency disease ?

(B) Beriberi
(D) Pneumonia

33. " Which of the following

- (A) Water and alcohol
(C) Kerosene and petrol

pairs of liquids do not mix with each other ?

(B) Water and kerosene
(D) Water and milk
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|
(A) Tulsj € Plants can be casily uprooted ?
(C) Bajri (B) China rose
(D) Oleander

35.  Which part of our body ;

(B) Spinal cord

(C) Heartand|
.. (D) Abdominal organs

6. We can see
3 our face in a plane mirror. Which phenomenon is responsible for this ?

(A) Propagation of light (B) Reflection of light
C) A
(C)  Absorption of light (D) Dispersion of light
37. What is the name of the manure prepared by the help of red earth worms ?
(A) Compost (B) Vermicompost
(C) Oil cake manure (D) Chemical fertilizer -

38. Whatis PET ?
(A) Polyester (B) Thermosetting plastic
(C) Thermoplastic (D) / Nylon

39, Which of the following metal strips burns with a white bright flame when kept on a
candle flame ?

(A) Copper (B) Magnesium
(C) Silver (D) Gold
40. Which is main constituents of CNG ?
(A) Methane (B) Butane
(C) Ethane (D) Propane

41. Amount of heat energy released by the complete combustion of 1 kg of a fuel is

called
(A) Heatwvalue
(C) Indicate value

(B) Inner value
(D) Calorific value

ic cell is devoid of nucleus ?
(B) Nerve cell
(D) Muscle cell
11

42. Which of following eukaryot

(A) Bone cell
(C) Blood cell
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43. An object vibrates with

the frequency of S0Hz, What is time period of its vibration ?
©) 2s (D) 20.0s

44.  Which of the following is not a member of the solar family ?

(A) Sun (B) Asteroids
(C) Comets (D) Pluto
45. Which carbohydrate we cannot digest ?
(A) Starch (B) Cellulose
(C) Glucose (D) Maltose

(C) Washing soda

47. In cellular respiration,
carbon dioxide, water

(A) Starch
(C) Lactic acid

and energy ?

(B) . Glucose
(D) Alcohol

48. Which is the main excrefory waste in urine of marine animal like fishes ?
(A) Ammonia

(C) Uric acid

speed ?
(A) 60km/h (B) 45km/
(C) ( 75 km/h (D) 80 km/h
50, What is the percentage of fresh water available to the total water found on the earth ?
(A) 71% B) 5%
(C) 0.04% (D) 0.006%

NB-117 12



